
Trig: Exact Values solutions 
 
Green Section 

1. 
1

2
 

2. 
√3

2
 

3. 
√3

3
 

4. 
√3

2
 

5. 
1

2
 

6. √3 

7. 
√2

2
 

8. 
√2

2
 

9. 1 
10. 1 
11. 0 
12. 0 
13. 0 
14. 1 

 
Yellow Section 

1. 𝑐𝑜𝑠𝑥 =  
4

8
=

1

2
=> 𝑥 =  𝑐𝑜𝑠−1 (

1

2
) = 60 

2. 𝑠𝑖𝑛𝑥 =  
8

16
=  

1

2
=> 𝑥 =  𝑠𝑖𝑛−1 (

1

2
) = 30 

3. 𝑡𝑎𝑛𝑥 =  
9

9
= 1 => 𝑥 = 𝑡𝑎𝑛−1(1) = 45 

4. 𝑠𝑖𝑛𝑥 =  
0.5

1
=  

1

2
=> 𝑥 = 30 

5. 𝑐𝑜𝑠𝑥 =  
2.1

4.2
=  

1

2
=> 𝑥 = 60 

6. 𝑡𝑎𝑛𝑥 =  
3

3
= 1 => 𝑥 = 45 

 
Red Section 

1. 𝑠𝑖𝑛30 =  
𝑥

11
=> 𝑥 =  11𝑠𝑖𝑛30 => 11 ×

1

2
=> 𝑥 = 5.5 

2. 𝑐𝑜𝑠60 =  
3.2

𝑥
=> 𝑥 =  

3.2

𝑐𝑜𝑠60
=> 𝑥 =

3.2

0.5
= 6.4 

3. 𝑡𝑎𝑛45 =  
𝑥

5
=> 𝑥 = 5𝑡𝑎𝑛45 => 𝑥 = 5 × 1 => 𝑥 = 5 

4. 𝑐𝑜𝑠60 =  
9

𝑥
=> 𝑥 =  

9

𝑐𝑜𝑠60
=> 𝑥 =  

9

0.5
= 𝑥 = 18 

5. 𝑠𝑖𝑛30 =  
𝑥

17
=> 𝑥 = 17𝑠𝑖𝑛30 => 𝑥 = 17 ×

1

2
=> 𝑥 = 8.5 

6. 𝑡𝑎𝑛45 =  
𝑥

9.1
=> 𝑥 = 9.1𝑡𝑎𝑛45 => 𝑥 = 9.1 × 1 =>  𝑥 = 9.1 

 
Apply 

1. 1 
2. 1 
3. 0.5 
4. 1.5 
5. 1.5 



6. 1.5 
7. 0 
8. 1 

9. 𝑠𝑖𝑛60 =  
√3

2
 

10. 𝑐𝑜𝑠45 =  
1

√2
=  

√2

2
 


